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Please answer the followmg questlous bnefly but pomtedly, éach qubstlon is 5 points:
GoodLuckl L P

L, What will happen if the level of real output is greater than the natural level of real
output ?

[P - - - - - B - -

- “ - s - M N T -
T 3 -~ - - . . - - - - -

2. Tfnominal GDP in ;rear 2 i $3.4 billion and tle inflation rate, as measured by the
implicit.GDP deflator, is 3.03 percent from year I to year 2, what is mn] GNP for
year 2 measured in year 1 pnces ? .

- . - ., -,
.yt e - -

3, What is th'e; r;elati-gnship betwé;cﬁ interest rates and bond-prices.? How.does this.
relationship correspond to the theory of money demand ? '

4. Explain the role of automatic stabilization in determining government budget teficit.

»
+

el . - -

5. What will happen to the short-run aggregnte supp]y curve if a fallin nomma] Jages
occurs ?

. f .
L T e

6. What are the similarities between Lucas model and the real business cyclé model ?
e

7. Isit possible for Lo real rate, of intercst (o rise while the nominal interest.rale flls?.

e v - - - -- v ~ . el

L3 -
- - “ - - M - -

8, An increase in immigration would affect (he growth rate ofreal GDP per person in
which way 7 °

9. What does the purchasing-power-parity condition imply about exchange rate ?

- T . - . - - s ~4*

10, What are the lags involved in:(he implementaiion of monetary:policy ?* -

- )
- o
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11, Hicroeconomics: multiple -choice (2.5 points each question)'.

|, Johm must pay $6 each for punk rock video cassettes.-If-John is-paid $48
pr sack for accepting garbage and if his relatives-send him an allowance -
of $384, then his budget line is described by the equation (V: the amount
of video cassettes, G: the amount of gargage): .

(8) 6Y=486G

(b) 6v4486=384
(c) 6V-48G=384 - . . ) ) i

(d) 6Y=384-G - - - -

., A college football coach says that given any two lmemen A and B,-he
slrays prefers the one who is bigger and faster. This preference relation
is

(8) transitive ,

(b) complete

(c) both transitive and complete

(1) neither transitive nor complete

J,Ifgood 1 is a neutral what is its marginal rate substitution for
good 27 S - ) :

(8) 0 ]

(b) infinite

() 1 S

@-1

{. John thinks that 2 units of good | is always a perfect-substitute for 3
mlts of good 2. ¥Which of the following-utility functions is the only one:
that would NOT represent John' s preferences?

(@) U(x1,x2)= 3x112x2+1000

(b) UCx1, x2)=0% 1211 2x 1 x214x22 |

(c) U(x1,x2)=min{3x1,2x2)

(d) UCx1,x2)=30x1+20x2-10, 000

5. Suppose that a consumer always consumes 2 spoons of sugar with each cup
of coffee. [f the price of sugar is pl per spoonful and the price of coffee
is p2 per cup and the consumer has m dollars to spend on coffee and sugar,
how much coffee w111 he want to purchase?

1

(8) 30 ?pl+p2

(b) ;57 pl+2p'1

2m
(©) 7

(0 2 - - Lot e
p2 . .

§, Suppose Elmer' s u1.1111.y functlon is U(x, y) min{x, y"] [T the price of x
is 15, the price of y is 10,.and Elmer chooses to consume 7 umts of y,
vhat must Elmer's income be? ’

(8) 1610 (b) 175. (c) 915 (d) 805
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1. Supposc that John's utility ftmction is 3xly, where X is his consumption
of cocoa and y is his consumptmn of -cheese, If the total—cost of x units
of cocoa is x%, if ‘the-price of cheese is 8, and John's income is $174, how
many units of cocoa will he consume?.

(@ 9

() 12

(c) 23 - .

(d) 11 e ' - T T

8. Suppose that Ms.-Lynch can make up her portfolio using a risk-free asset
vith rate of return of 15%-and a tisky asset with expected rate of return
3%, with standard deviation 5. If she chooses a portfolio with expected
rate of return 18.75%, then the standard deviation of her return on- .this
portfolio will be

(a) 0.63% S .

(b) 4.25% S

(c) 1.25% ) - - ) LT

(d) 2.50% g T )

9, Sir Plus has a demand function for oranges that is given by D(p)>=100-p.
If the price of oranges is 75, how much is Sir Plus’ s net consumer surplus?
(a) 312.50

(b) 25 ) ) _ : - -

(c) 625 - - =T - '

(d) 156.25 - .o o

10, Suppose the demand functlon of oranges‘is D(p)=(p+1)2. If the price of
oranges is 10, then the® prlce elasticity of demand is

(a) -7.27

(b) -3.64

(c) -5.45 v

(d) -1.82 ’

%l) If S(p)=12-2p, what pr1ce w111 maxunlze revenue‘r‘

a) 2 -

(1) 3 e L

{c) 4

(@) 5 " -t e,

12. lere are the supply and demand equatlons for oranges, where p ‘is the
price in dollars: N -- . -

S(p)=104p; D(p)=40-p.

Suppose that the government decides to restrict the industry to selling -
only 20 oranges. At what price-would the suppliers supply only 20 units? -
@10 (b) 20 (c) 30 (d). 40

13, The technical rate of substitution between factors x2 and xl is —d If
you desire ‘to- produce the same amount of output but cut your use of x] by 3
tnits, how many morc unitis of x2 will you need?

(@) 10 units (b) 8 units (c) 6 units (d) 12 units
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i, Suppose that the production function is F(xl X2)=(19 +x27) | where a

fecreasing returns to scale?

®ab> 1

{®ab< 1 .

(¢)ath = 1 - ST ~

() alb > 2 ' '

5. Given the production function as f(x) 4Jx , where x is the number of
wits of input. The commodity sells for $100 per unit. The input costs $50
pr mit. How much profits does it make when it maximizes profits?

() 1000

(b) 1200 :

(c) 800 - -

(@) 1100 :

I6. Given the production function as f(x1,x2)=x1%%x2"5. -If the price of
ficlor 1 is 8 and the price.of factor 2 is 16, in what proportions should
the firm use factors 1 and 2 if it wanls Lo maximize profits?

(a) xi=x2

() xl=0.5x2 ' o

{c) x1=2x2 . Z s
(@) dx1=x2 '

I1. Given the production -function as f(L,K)=4AL"*K"*, where L is the number
of mits of labor and k is the nimber of machines used. If the cost of
lsbor is $25 per unit and the -cost of machines is $64 per unit, thén the
total cost of producing 6 units of output will be .
(8) 120

(b) 267 X

() 150 v

(d) 240 .

(8, ¥hich of the following is false?

(a) Average f ixed costs never -increase with output,

(b) Average tolal cost are nlwuys grenter (han or equal Lo average variable -

costs.

(c) Average cost can never rise while marginal costs are declining.

(4) The area under the marginal cost curve measures the variable costs,

19. A firm has a cost function given by c(y)=10y*+1000. At what output is
average cost minimized?

(@15 (b) 10 (e) 20 (d) 18 °
2. Suppose that a monopolist faces two markets with demand curves given by
Wp)=100-p;;  D,(p;)=100-2p,.

fssure that the monopolist’ s marginal cost is constant at $20 a unit. What
price should it charge if it can's price discriminate?

() p453 (b) p=d33 (c) p=A2.5 (d) p=4l

ul b are positive constants. For what positive values of a and b are there .
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a. h% ) .
(a) MG SEAMUR M-S MHER RN (quahtatwe) ELEE
(quantative) ¥l -
(b) HEEBEE » HE—FHRAGERAL (neasurement scale) Zﬁﬁ
(o) FHERMN: - E—FRNTEREER (FRREERK ?aiﬁ“fyt%h}é
WAt BOFEAEAT) -
b. AATRAS R B AT B R R M "ﬁi"f%fi‘ﬂ;lﬂ%{ & ?L‘LE Rk R R M.
M o 2% '

c. (a) fRBUTHE (Y) f(.ffi,klwl (stem-leaf plot) ! iGY ?xl ( box
whisker plot) WHFLARIBIRCERERGL -
(b) &R ﬁ?ﬂa%ﬁ‘d‘l‘@.‘ﬁ%ﬁﬁﬁﬁiﬁﬁﬁﬁﬂ'ﬁ] o 3%

d S BPUS SR 1B (Scatter diagram) -« '

e. IRl » 4 fﬁﬁﬂﬁfﬁﬂl‘ﬁiﬂfﬁﬁﬁﬁmﬁﬁﬁﬁﬁﬁ (lmear) FidE
Hi-—BeErieat] = 2%

{ AR A ORI 05 2 A E RN R » BN B N2 s )7 153K
(LEMEFRYE B 2L B 1 (.’”ﬂ!'fff‘iiuf&ﬂu&w (dcncndcnl) e (5] 4
JU{ (independent) ) °
PESMT (Regression) "a*‘ Hi!)1 J 2 | SRR AP R I TR R
l\bf‘!r ? 2% v

A ST T IS PAITERERUAT IR P E a2 il I 0%

i.0h%

(a) BIKISGHIBHANOVA » H¥LL Yis (=100) ’j\’u VY A R =ATN A
(b) EAFERLAY - 7 Aefsl Vo DAPIAR - FHi -
(c) PUEGRULE AT ? SMRRRAEADIh i B E -
BRIERRTAREEAE - BREEEEFEAR -

a, TS S LR T TGS T S U B U ? 2% -

b, WP 2 £ b RS REIRAT 2 2%

¢ AHREN RN o 2%

LA RIS - 3%

I e N AT RN SRR AT 5512 9%

[AE0. 05HTE K HET » AT IR IR R R i 2 5 o Al f4
PR T B TR (R RZR M B R BRI ) - 5%

g AR CAE R R AR AL S E N (R » BRI LT 2 SR 0, 2
BTSN ER ? KT E R P Tt (RAEHE - Ry
HAEEREG) - 4% L :
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! BAERY AT FBTF N e -
a. i I ~ Type 1 error 82 Type 11 error » AfEEIEEAET IR
TBSEURE » 25 B AR HRE 7 3%
b, THIRSRR LR » -2 E 3 T AR TR 7 1%
(a) WiE2#U (one-tailed tht) HREE R (Lwo-tailed tesl)
(b) @=0.05 Ht a=0.01 -
“{c) n=100 Jrl n=1000 ‘

1% @5 a,b, ¢ 230 X 4 fé\@ﬁ\‘lﬁ) de %’BJMW‘?J 42 A,
a. Ll FiE— SAS TRIERAS » Flifeobs POLA S K Ik

DIPENDENT VARTABLE:Y  One Way Analysis of Variance Ne3d: o

SOURCE  DF SUN OF SQUARES HEAN SQUARE F VALUE PRSF R-SQUARE C.v.
WDEL 5 847.04666667  169.40933333] @ |0.0001  0.749616  17.2051
moR  [®]282.02800000 @ ROOT WSE NITROGEN

MEAN
CORRECTED [ @ (1129, 97460667 - - . 3.43346278 19. 88666667
TOTAL ’ ’

SORCE  DF  ANOVA SS . I, VALUE PROT
X 5  847.04666667 . 0.0001

- bLATFE— SPSS EEi%Rz - FhiE%E
Independent Samples

t-test for : Y ‘\._
Number of .~ Mean Standard Standard
Cascs Deviation Error
Group 1 b6 17.1087 2. 084 ® |
Group £ .82 16.3003 | ® 0.193

Polled Variance Estimate | Separate Variance Eshimale
F-Yalue 2-Tail |T Value Degrees 2-Tail |T Value Degrees 2-Tail

Prob. of Prob, of Prob.
- Treedom Freedom

0.000 | 2.12 0.03 | 2.02 103.96 0.046
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Dependent Samples

.. PAIRED-COMPARISONS T TEST - N=l5

VARIABLE. MEAN - - STD ERROR OF = T PRY| 7]
L HEAN: . : _

DIEF  * 7.93333333 -2.5643465] L ® ] . 0.0079
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(b) BIE LIS e BUYIAST RS 74 SUARSE - 2% .
(c) E—FAFIT AL 2 IR - 2% ‘ -

(d) E—ZPAGB UL ZETGREGTE © 2%

(e) mﬁﬁﬁﬁﬁ'ﬁz&%ﬁﬁé 29’

|
|

o Emiers
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kit » REAZ TR 1 AR FEERITARZSHIRS2. S0F ( z2x=2.30) BIMLSE2130.04
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